
 

TEST 

MONEY 

Class III 

Q1.  Write in figures:                                                                          5 

1. 63 rupees 50 paise   63.50 

2. 5 paise   0.05 

3. 1 rupee 1.00 

4. 85 paise   0.85 

5. 157 rupees 2 paise 157.02 

Q2. Convert the following into Paise:                                            3                                                     

a) 65 rupees 5 paise  6505 P 

b) Rs. 90.09  9009 P 

c) Rs. 10.00   1000 P 

Q3.  Convert into Rupees and Paise:                                              2 

a)   489 Paise    Rs.4.89 P    

                                             

b)  4050 Paise    Rs. 40.50 P 

Q4.  Arrange and add:                                           

Rs. 80.08, Rs. 80.80 and Rs. 88.00 = 248.88        2 

 

Q5. Arrange in columns and subtract: 

                        Rs. 0.07 from Rs. 19.00  = 18.93                           2 

 

******************************************************* 



     

 

 

 

 

    

               

 

 

 

 

 


